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10th- (Mathematics)

TERM 1 Practice Questions-2021-22 —
WEEKLY REVISION ASSIGNMENT-13

1. AT TWS HgUT K +3x+k T 8 fAgg 2 J= 37 k& Az dt J=ait 2

If one zero of the quadratic polynomial x? +3x+k is 2 then what is the value of k ?

(a) 10 (b) -10 ()5 (d) -5

2. Add B.H.€. (91,26) = 182 3T H.A.T. (91,26)= ...........

If LCM (91,26) = 182 then HCF(91,26) = ............

(a) 12 (b) 13 (c) 14 (d) 15

3. Thevalue of y, if the distance between the points(2,y) and (-4,3) is 10 is :
y T HS TR, AT e (2,y) w3 (-4,3) © fegara gt 10 feaméi I |

(a) 6 (b) -11 (c)5 (d)11

4. The fourth vertex D of a parallelogram ABCD whose three vertices are A(-2,3) , B(6,7)
andC (8,3) is:
faR mi3g g3agnA © 3 femr @ fagem wia A(-2,3), B(6,7) W3 ¢(8,3) J=3* 57

fifg D @ fogemwia & |

(a) (-1,0) (b) (0,-1) (c) (0,0) (d) (0,1)
5. 6 sin?30%+ cos?45°+ cos230° = .....coueeueene
1 V3 3 2
(@) 7 (b) = () 3 (d) 3
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5sinf — 3cost
5s5in@ +3cos@

. S5sinf — 3cos@
Hag 3 cotd =553"' — =
5sin® +3cosf

6. If 3 cotd =5 then

2 b 3 0 d)1
(@3 () (< (d)
7. IftanA=cotB, then A+B = ..............
A99 tanA=cotB I3 A+B = ..............
(a) 90° (b) 60° (c) 45° (d) 30°

8. wIufewH R T8 gad Su P’ dvdlds g&7@T <&t gy < Savdl It
Length of an arc of sector ( having an angle P° at centre of circle ) with radius R is :

p p P p
(a) ﬁxmrr (b) Exan (c) 360 X 2mr (d) ﬁXZm’

9. FawH& g@t <t St 14 A 3| ferFd ewrars fife R 3w iz dsge
U39S U3 I3 |

The length of minute hand of clock is 14cm.Find area swept by minute hand in
5 minutes.

(a) 150 / 3 cm? (b) 154 /3 cm? (c) 152 /3 cm? (d) 155 /3 cm?

10. e gag R 98 I T U3ISB U II AT WT 22 A T |

Find the area of a quadrant of a circle whose circumference is 22 cm .

(a) 2 M (em?)  (b)> FH(m?) ()= FHI(cm?)  (d)S T (cm?)
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